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2019 ()
EARTH, ATMOSPHERIC, OCEAN, AND
PLANETARY SCIENCES
Tima = 3:00 Howrs TEST BOOKLET Mexiniten Mearks: 200

INSTRUCTIONS

This Test Booklet contains one hundred and fifty (20 Part *A’+ 50 Pan *B' = 80 Part "¢ |
Multiple Chaice Questions (MCQs). You are required to answer a maximum of 15, 35 and
25 questicns from part “A’ *B” and ‘T’ respectively. In case more than required number of
guestions are answered, only first . !ﬁ }S and 25 questions in Parts *A' ‘B and *C'
rfespectively, will be tnken up for idin,
2. OMR snswer sheet has been prmi&ﬂmb Before you start flling up your particulars,
please ensure that the bobklet Cur T & tiumber of pages and that these are not 1om
o mutiled, 1170 is s6, yvou l‘lﬂ?‘w‘ nvigilator to change the booklet of the same
code. Likewise, check the OMR mw sheet also. Sheets for rough work Rave been
appended-1o the test bookler
3. Write your Roll No., Name and Serial Number bﬂhETﬁﬂ Booklet on the GMR answer sheel
in the space pmvﬂpd Ahapu:nur signatures i the' w earmarked.

4, Yn ST i Lhe fpp! roprink £ ircles with a b LIt i . |
dﬂ_le which MY uhimmeh h u!; in lgsﬁ, ing Iuging rejection_of the OMR answer
sheet. I

5. fach qutﬂ:mn in Part Al "B Team 1 murLs and Part “C" questions-earmy 4 marks each;
respectifié b e fin@ 050 marks for each wrong answer in Part
*Aand “Bland |32 mark: fo

6. Below d " four alternatives oF responses arc given. Only

I nnkives |- dercat™Bfition 1o the question. You haye to find. for each
question, liu: correct ar the hesl: answer.
7. Candidates found copying or resorting 16 any unfair means are lable 1o be disqualified from
this and future-examinations.
8.  Candidate should not write anything anywhere except on answer cheet or sheets for rough

work,
. Use of caleulator is NOT permitted,
i0.  After the test is over rforation point. tenr the OMR answer shee nd aver
the originul OMR answer sheet to the jovigiator and retain the carbonless copy [
your record.
1L Candidates whe sit for the entire duration of the exam will only be permitted to carry ther
Test booklet.

Rall Mo, cvveviseaiins I have verified all the information filled In by,
Name........... ; the candidate.
Signature of the 1nui§ﬂatar
S/06 CRIEMS—28H—18
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I.

AW/PART- A

for 31 7 Wi e B s & o aem W

Faar fer t o v YR SsiUEs SR A L

&

Flpure B

Figure A

1. FmaA AT S st
2, Bt R
3. st aAssn

4, aBmAsdcatmn

. Which af the following figures can be draw
without |ifting the pent (rom the paper o

retracing?

Figure 8

Flgure A

flgure A but o figure B

I

2.

3. both figures A

4. wneither figure A

2. ABCD U s £ e AD w1 wefa o #

TSt AB AT CD 7 e A Q A e
m%tﬁh@-:%.mmﬁst She

A i t
o
o a
e ABCD 3 drarss a1 frear OPO ¥ S
T AT &
b 4 2.6
R 4. 16

2-B-H

2. ARCD is o rectangle and O is the midpaint of

AD. P and Q are pnimsan.-\ﬂandﬂﬂ
respectively such thit AP=;.AB and DQ =

i
” » g
o
B’ a :'ﬂ:
The ristio'of arca of the rectangle ABCD to that.
of the triangle OPQ is
| PR 2.6
3 8 4. 16

3. #E sar st i i viEE, Tl aa

a1 b e st s A B A
g P Boaw 7w aeft ol Reeft 8
il iﬂ'ﬂfﬁ-ﬂfmﬂﬁé‘?

Balls are being rolled ott with Initial
sp r:n-d: ong @ frictionless, ﬂﬂdulnhng {wave-
ll'kc} 'tmnk in quick wmiun. There is denser

g balls. point B than nmund,

3: Pﬂnmhnndﬁmmmeﬂmt heighis.
4. Ballsreached point A first and then
point B

4. TR fire sy Sy = e T A 2




Wirsam R s emeer i R s

foro Rrr &
1,
T
2.2
x5 & x
3.

dad
. t:l- 'l.u ty
4. Velocity-time curve of & body is given in the 5
diagram below:

1., ==

2-B-H

v Y ‘N:

R=EE e N

Feft orge o 27 =T % 97 w0 99 & w9 0w a1
219 & H7 3 AT F 7 v Ry ow 4
HER) AT G 6 A A o aet § afE eme
¥ wwT

I HTF arT i stfirgew dwe dwar

afirw 21
2. AT F AT G At e e A
3. H F A T OF AT A A
szara f1 &
4. wregatforE w9 & wai ar

In & city, each persen has at least ane hair on
hisfher head. At feast two persons in this city are
guarantced to have exactly the same number of
hair on their heads if the popalation of the city
I, Isgreater than the maximum possible
number of hair on the head.
2. is less than the maximum possible
number of hair on the head.
3. hasal least ane pair of identical twins,
4 s gﬁlﬁlc&lly homogeneous.

T ST T AT AT TS € e i e v

21 Frerger 39 6 w3l a7 o B s &

ZrAt aret £ afromfi Fars s fad

1AL AT & SATHT ¥ AL TV FZT 50 AT 2D

I, #AT ST AT w & g2 2

2. AT ST AT w9 A 42§

3. WH A w1 = & A S i
=T

4. T ST S EE AT e 8 W
g



6. A metal wire is streiched along its length.
Anather Identical wire is heated. The resultant
length of the two wires is the same. What can be
said about the diameters of the two wires?

. bath diameters will have reduced equally

2. both diameters will have increased equally
3.  the hot wire has a larger diameter than the
stretched wire "
4.  the hot wire has a smaller diameter
than the siretched wire

T | (raw gvE) @ @ w0k el s %
wift gt wr g ww e #2019 5%
P mea & s i e e
1. &0% 2. 610
3, 709 4, T10

The number of digits you have to type to write
all the page numbers of a book starting from |
(first page) is 2019, What is the number of pages
in that book?
l. 609

3. 709

2, 610
4 710

uw Frordf %1 = § & aiw mroeat § 91, 86,
81, 79 79T 92 3w T T TAF H: TEHAT A
STETRD ST Sl 85 31 gL TrEe i 38 e

8. A student r:cclvcd the fallaWing d d

five of the six courses: 91, 86, 81, 79 and 92,
Averape of his marks in six subjects is 3. How
many marks did he receive in the sixth subject?
. 83 2. 85

3. 8l 4. HE

5= b=
. 83
: TR |

fFFm ATt ogaRagy 7 Raswa A
at e st 9% P e v 5% W wfee
L R -
Rs.15 ®w we 31 m4 27 fww g52 w57 15%
Fter fam aft A 791 B T #r weftea A
war wifey et 8 A /g WA a0
L. 10 2. 20

3. 225 4, 30

2-B-H

9. Salesperson ‘A’ sells an object at a price Rs. 5
lese than the marked price, réctiving a
commission of 5% on the selling price. The same
object is sold by person ‘B’ at a price Rs.15 less
than the marked price, receiving a commission of
154 on the selling price. If both A and B receive
the same amount in commission, then what is the

marked price of the object?
1. 10 230
3. 223 4. 30

10, T iz » goia afy FEE f 2 & g gy oA
a1 uE feaw g 0 F =2 7 ke R
TR e s T E (R<r) | DA
e wfrsar wk Ry # & iz 97 ow &g A
# ot fft =ror g i ¥ ¥ AT O F AW 0w-
e &1 72 B Fsy s % == F B

5l i 1
= LR
A 1,1
3% -*:—.-i.:_ Lo i

10, A hﬂmnn rate r rotations per second and
_ ly rovelves around a stationary
pmmﬂa:um R revolutions per second (R <
r). The rotation and revolution are in the same
sense. A certain point on the ball is in the line of

the centre of the ball and point O at a certain

%mﬁgurﬁuww aftera time
sicid

5 T

1 R

iR alr T

1. vE oy £ 3 oftarsdl A 791 B F w30
T 70 7 F 3w P ary & afiey I 599 §
foron e ST T Fw A 40 % AW B F
qam-w%ﬂwﬁa Aot s, 78 8,% Fe

faamdt | A B
s, |12 28
s, | 10 39
S | 16 27
Se | 05 29
I - 511 53

% 50505
3 NS 4§



1L There are two examinations, A and B ina subject 13, Which oue of the following rambers Isapritne
witich are 'evuldisted ot of 30 dind 70 morke, nubee?
respectively. Tn order fo pass the eotrse fthe VO | < 21
stadent hos 1o ger ot least 40 % inctotal and wt 5. A7 &, 10201
least 40 % in B, The following wre the murks of
the students 5,10 S, 14, TR (700 ) s, W ww) wA WA F g
wfi Fyee sieg g=riar 2
Stidents | A A
53 12 28 i
S, |1 |29 B i u
By | s oy = R
L 5y (05 |29

The only student's to have passed isfare L)

L 88y 2.5,.54. 8,

3. 85,5 4.5, LN LN
ditapiice ‘dateprice  price price

12, 373 &7 A9 0w A A w00 ey Y Adrl o My, =3 Db

200 9= § T W 7 A T 1w A e i )

meﬁﬁiﬁwﬁmww R R

it g i st £ QR %S TS R g

Pl A e

mﬁww’"ﬁr B B TR -

2, v : 3. SEEET 5 A A A g A
it % et ¥ Ay i wraffis wft Ry

3 = _ A E T A 700 80 F A H 2

. gﬁ;%w m‘ﬂ"ﬂ'ﬁ- :: Ll 14. The graph depicts lhn?:mﬂ prives (in Rs. per

litré) for the months April. May and June.

B

12. Two forest patcheS"REve CEi" h
200 teak trees of the same age. In a gwm SCASON,
all trees shed some of their leaves at random.
The daily ol collections of the leaf Hner from

the two patches dre expecied to have 7
I nearly equal means, standard deviations and
coefficients of variation & .
2. different means, nearly equal standard Opening  Closing  Higheit  Lowieat

dlil‘l.‘ price  datuprice price. price

deviations and coefficients of variation _

3o different means, nearly equal standard S i
devintions ﬂl'ld difrﬂl’ﬂﬂl mr.:fﬁci_#nts ol Mek the INCORRECT Eiatitrenl.
varacon L. The highest price never grossed 75

4. different means, snd standard devia- 2. T'ne largest difference between the highest
tions 1_""“" nearly equal coefficients of and lowest price wiis for the month of June
varfatioi 3. Month of June showed the largest decrease

of price berween the opening dee-and
13, P 5t dwr s 7 closing date price
. 183 2 121 4. Al depivted prices lie between 70 and 80
s T 4. 10201

2-B-H



15.

i5.

16.

16

i

ary 1 afet &1 R

aee § st et W gv agEEr §1 s
Franfirt A, B @ € & Bft sav w1 T
T T 78 e g e

A: FTH HE 1

B: =T HA qEAT

C: #rer srrar

TR A, B 79T C # & Fa v Fean & o ey w
=fF At iR

#fmmmi%ﬁ

T AT Tt

=73 ol =7 wEa & At At 5
ey

ke R e

A traveller to the town reaches a crossvoad.
Upon asking residents A, B and C for directions
to & certmin destination; he gets the following
responses

Az tumn left

B: do not turn lefi

C: go straight

If only one among A, B and C is truthful, the
traveller

1. should go left

2. should go'straight

3. should go right

4. will not be able to decide between

gaing left or right

e atrons 1
1. 34567 . 345
3. 346 4, 3.5

The value of a physical quantity is measured to
be 34587 +£0,0022. Which one of the
foHlowing is the apprnp—natc representation of the
result taking the errors in acmum'?

1. 34567 2. 3457

3 345 4. 35

ey Fae sl f R f o Em A E
SIASE T W9 g AET AT 8 A A 8
I. fm s 2, &5

AT RS 4 5

2-B-H

17. The cross-section glong two mutually perpendi-

dular axes of & solid object are a circle and a
square, respectively. The object is

1. atruncated cone 2. novlinder

3, ‘arhomboid 4. a cube

18, i Py oy ars e ¥ Bl s § At T

& win o~

aTowT ¥ Wt = e @) 9w
Fgi e Ry Frr Fr it s 82

Manthly Avetage
Temperdture (2]

L FE M AMIY I AS0O ND
Manth of the year

it 7z 7%

T qE T
Fee-gdt e
Fsrrerfir frfrrat

18, 'ﬂmw;‘.lh below. showe the monthly average

rainfall and monthly average lemperature at &
cértain place in India. Where is this place most

likely to be located?

19.

19.

Raintal (9)

JEMAﬁixasnuu
m:ﬂthem

l. Onthe west const

2. Onthe east coast

3. Inthe north-casterm hills
4

In the Himalayasn foothills
= 3= F1 8§ em T 6 em ﬁﬁ#ﬂ"l‘i:’fﬂ
e s eI E R i il (S AR ek HCH
#) faey 2
[, 4 2. 442
3. 5 4. 3%

Two paraliel chords-of length 8 em and 6 T of a
cirele are separated by a distnce of 1 em. The
radius of the circle (inem) is
[. -4

da) 49

W s

N2
}

= 1




20. ATITR WE, y T« A >0 F

A B
¥

|
1
L

¢ x 0 X

UTF B # FfE 0% =9 g

I. 2, xt

&A1 B I B

3. d. xy

20. Graphs A and B define the same refution=ship
between v and x fir ¥, y = 0,

B
?
1]
The variable on the ordinate of graph 5
I. i I
Sy ; 4. xy

21, TE N A S=rhr dw
(vi) & w2, ?rar'miﬁﬁ-’lq
I. FT v, 79T v 36 = w7 2y
1 %‘T‘-’iﬂ’m‘
3. HW v, EET
4. T IE AR Enft

21. For a layer having S-wave velocity (v,) higher
than the underlying halFspace velocity (vy), the
Love wive will

have velocity between v, and v

have velocity v,

have velogity v,

not be generated

.4'!-"!!‘::-

22. uf% p-Fiw ww AEOT WvEW A ST AT S
s 551

2:8-H

|, STAT A AT
2. s et rate ve
4. ol g

2L 10 a P-wave passes through a homogeneous
miedium then the medium undefpoes
I. avolume change
2. ho change in volunie

3. shearing
4. rotation

23 =8 i i s of it v st
1. F=ftaa 2. =flft o
3. qur R 4. e Ay

23, I which ane of the following regions. the
geostrophic wind does NOT aceur?
I, North pole 2. South pole

3. Mid latitudes 4. Lauator

Wqﬁwww% TEATHT §

. Stratosphere and mesosphere
'tmpnﬁphm and stratosphere
; here und mespsphere
' _ﬂ':%nd trogipsphere

:mﬂwﬁmmw
mﬁﬁrlﬁﬂﬁ!ﬁwﬁﬂ

weETdrfT T

P f=r

25, The highest gradient on the continental margin is

Bl )

)
2

3.
4.

inner continental shelf
continental rise
continental slope
ahyssal plain

26. HEHY TAATY iEa & = ey
T F19 T Amr o o g A
I, <209
2. 20— |00 9
3. 20 - 100 gETT AT
4. 20 — 100 Fer=rT 0

Fot b i



16.

27.

27:

28,

28,

29.

29.

30.

9

The Mitankavitch cyeles of the global climiitic 31,
wvariation operate twm-thcurncsmhsul'
L. <20y
2. 20 = 100 yi:
3. 20 100 kilo vr.
4. 20 - 100 million yr.
uﬁrlﬁ‘r K =#75 ® U s w7 a@wd 2

2 255 £ 3 i
3 1‘.} 4. =17
07F can be expressed in K as.
.32 2. 255
30 4. =17
Freving ofirf Feo s s foy wsre & st 2.
ClRLES
1. \TE Wi s 2. wraErd
3. #araft adf 4. TET
Anvil cloud tops are associated with the
following cloud type:
I, Fair weather cumulus 2. Altostratus.
3. Cumulonimbus 4. Cirrus
I TAE AT T A £
L. e e AT WY
2, Frforee sy e sirgeT ST
3. T AT S 32.8

4. AT TET T A

Baroclinic atmosphere is coupled function of
L. Gravity and mpisture
2. Specific and relative

Frerforfim & a3y

mﬂﬁ%’m%? _ i
|. a9 J9F AR 9T w07 0 A 6l A F
2. HaH TR TG A0 oz A AT IR

3 T FE AT

4. FETHE AF

Which one of the following does NOT apply 16

tropical cyelones?

I. ‘Strongest surface winds are¢ not observed

the centre.

2. Lowest surface pressure is observed at the
cemire '

. Watim core system

. Cold core system

T

= U 43
:

33

33.

1L Mountains

T T ATHT F ATATT TG HT T FW
|« gedt, o, 38

AT, T, A

H, AT, 4%, 39

. W, v, gEey, geft

The correct Sequence of planets in order of
inereusing surface temperature is:

Satumn, Earth, Mars, Mercury
Neptune, Earth, Mercury, Venus

Mars, Earth, Venus, Mereury

Uranus, Mars, Jupiter, Earth

sl

da il ped —
& m o emm

FaA-1: T 3 9rATE ¥ P e Iy e
e A g Far &

-l WA W A7 SR W Fr2 yET A
(CMB) 7% =7 F9T # 21AT &, Far stwa OMB
ey F A I gy ) A e
% % s-a e i 7

|, =T Fa wE

2. 4| A T LA T
I.Mmﬂﬂﬂ‘ﬁl

4, mwéﬁqw«wﬁ%n

ment-k beat transport mechanism from the
o r!@ ﬂﬂ&-h&c of the mantle is primarily by
convection,

Statement-11: Mantle plumes originate at the
core-mantle boundary (CMB) from the regions
aving low heat fitx gonipared 1o average CMB

ich ﬂnu af the rﬁ)”nmrﬁ options is enrreet?

j ements are correst,

2 St_memm:-l is correct but statement-1 is

incorrect.

Both stutements are incorrect.

. Statement-! is incorrect bur statement=11 is
eorreal.

W

o At s R ot # s

17 Py w7 @fers A 22
. waEa 2. A=
3. urd femee 4. W

Which one of the following landforms is
chiragteristic of pluvial condition in the
glaciated regions?

2. Lakes
3. Valley glaciers 4. Karsis



3.

34

35

36,

36,

a1,

37.

10

ey # & $17 @7 wu WA &7 38, TH F AIA U AErariy Wz # aeg-ea w1
| A IO § AT T T FETEIW 87
o _ |, =FHIT 2. e
2. AN AW ATHAATH § A W W A 3. T 4. F=v
il
3 e g A g s S e L i
E - i & witin miimen
4. T T I A L 1. Bermuda 2. Yellowsione
Which ané of the following statements s 3 s 4> ity
correct?
I. Folds are briule structures but faults are 39. Tt st . =pvew qRearmT 7T FaT
duetile structures . FaTh 2. AT R=dT
2. Folds are ductile structures but faults are 3 AT 4. Frshi
brittle structures _ _
3. Both folds and faults arc brittle structures 39, Among the following places. the Earth's gravity
4. Both folds and faults are ductile structures e thyes Tt it
: 1. New York 2. New Delhi
. e Frdgsy A Rt T Feft S mivfm 3. Colombo 4. Sydney
sl s A 40, =7 AT F & Sy g pef i ¥
.= 2 atafewr s Freg s 89 _
3. A= 4. W€ 7H I, nrere 2, wradrertz
- 3, Tz 4. BpTE
How many lines of "No finite longitudinal strain® ' '
are thete ina strain ellipse? _ 40. Which one of the following mincrals is.n good
. Two 2. One condustor of clectricity, besides being strongly
e . T b Ps‘lﬂi! 2. Pyrrhotite
ot 1 Faw wfa # B-sovadda o w2y 78 3. Cuprite 4. Sphalerite
o 3y 27
. TR 41, g W AR
3. iz |, % iy g sfid f g e
F 19 7347 21
Which one of the foll 2. TR AT ¥ e T o
show the pheriomeno iSRS T T e B T
; g:ﬁ:ﬂ:i i‘ :;pntill:: 3. g Hfra vl a ¥ A A A
srfirda gff 3 ¥ Ay e 2
siferdta sifarer = & irmmde sy T3 F Ame 4. srfersdt gl s wor Wiy afiean v
s # § iy =aar 22 e w1l e
I, WEEAT .
: _ . 41. The magnitude of an carthquike
2. T A T AR I. incredses with decrease in focal depth and
3, FwR epicentral distance,
4, TR 2. increases with increase in foeal depth and
decrenses with decrease in epicentral
In olivine group of minerals, which one of the distance,
following increases with increase in Fayalite 3. increases with decrease in focal depth and
coment? increases with increase in epicentral distance.
I, (Hardness 4. is independent of the epicentral distance and
2. 'Unircell volume focal depth.
3. Twinning

4. Melting point

2-B-H
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2. ARG AR # g G R
= T A A A, T A A
. stfir ey Ay 1, & R v 5 B &
et Zr
2, % Pt ey 76, @ P o ¥ Rl
T Em
3, sifirs B sy 200, @ B adee
g 441 7
3, ww Famrsen 207, 1 B wvimm % R
AT F
42, If the Sun loses some ol its mass, it distance 1o
the Earth remaining the smnl, the vewr on the
Earth would hive
I more number of days, the day heing shorter
than the
2. less number ﬂfday!L the day being longer
than the present.
3. more number of days, the day being of the
same length as the present.
4. less number of days, the day being of the
same length as the present,
43, |7 Az A Sy g P s
EiesiEnie i ol
l. O 2, HD
3. NO, i CO
43. Oxygen mom required to form tropospheric
ozone comes from
I Oy 2.kl
3. NOy
44, et 72 7 i
il sk
|, THfe=d AT 2. TAdTAET
3. %E TET 4. TTEETT AAT
44. Thic rativof insitial [oroe to vistous forde in'a
fuid is
I, Reynolds number 2. Rbsshy number
3, Proude numbes 4. Ekman number
45wy Sy e wrvedE ot o s E
|, GLONASS 2. GNSS
3. IRNSS. 4. INGAGAN
45. The Indion regional satellite navigation system is
knwnas
. GLONASS 2. ONSS
3. IRNSS 4. INGAGAN

Z8-H

46,

46.

47

A7,

48

49.

44

Fovess & &1 sy oy st & £ Pt o o1 o
mmmm%mﬁ
. PP Fameatt o e ofv aeff e

Which one of the foltowing sugegests that hill
crests and mountain peaks ina region are
remnants of a former plain, plateay or crosion
surtace?

. Flavtopped hills av different elevations

2. Accordant summits

3. Discordant summits

4. Escarprments with sharp crest

o a5 e S Rt i e A o o
sl =l e w7 T 2, v e oy
ST STEAT 9 £, e A e e

‘mm&aﬁ—mﬁi -
i 2. HrEATETT
5. W 4. =St

Mﬂd soil that conmmins dark and thick
mﬂgﬁuﬂc horizon, abundant humus and
basic cutions. and remains soft afier drying is

Muoillisal
3. Alfisol 4. Spodosal
?r‘fatuuu*.q@qmgﬁum 7 et
4 9366 ym 2. 048 um
3072 pm 4. 489 um

b 01 radistion emitied by a black bady m
000 K o vaguum is

1. S.66 um 2, 048 pm
3. 072 jim 4. 489 um
T 31 %7 A

1, gz 2, =M
3. URTHI 4, gtaetz

Geographic areas with high biodiversity that is
umder threat are referred as:

}. Halitats 2. Biopmes

3. Eeprones 4. Hotspots
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gt & ek Avfwror w7 waT EE . g . et g ey werE gEeTE & A
|, s wwE T TAOTAT FT T G
2. wrard & 2. ittt spmer Ty werrs AgrATIE AT
3. srmutEE g TEUET T IGAT 7T
4. D" e 3. e i T Ity weriE W A
Which one of the foll he principal ok v

ich dne o ollowing is t nei - T :
mumenfmcmnmnui;gm? A SR NI
|, Subducted oceanic crust $4. Which one of the following anomalous features

2. Mantle wedge is NOT associated with the El Nina?
i- Subducted sediments |. Deepening of thermocline in the western

. D" layer equatorial Pacific
| 2. Shoaling of thermocline in the western
areTEedt TR # "t §if afiwas equatorial Pacific
Tt 747 20T, ey 3-uew a9 8 efieow 3. Surplus rainfall in'central and/or castern
e i ' tropical Pacific
l’ 2 e 23 4, Warming of eastern equatarial Pagifie
3.4 4.5

s5. aferft drand &, gt ¥ S i § watee

During an equilibrium  crystallization. the m Affw gzt & fay wwar: 8,
maximum number of minerals that can
crvstallize from 3-component system is:

b2 2:°3
3. 4 4. 5
sttty 1 w7 6 Rafd # qrft 7 Hwefiar &1
FuTe =9 2
1. Mn* 2, Mn3*
: nmﬁhﬁn[dmdlmmd respectively,
3. Mn** 4. Mn* . Up and Northwards
- Up and Southwards

Under anoxic conditions manganese is oX§
in water in the form of: :

ann and thwnrds

o g —

. Mn**
3. Mna*t
A e A e H g
M AE B
|, T s y
5 a8 A gHTEATST TFE=OT T
3. WWWW 56. Land and sca breezes are examples of:
4, ATOfETY . Geostrophic flow
2, Baroclinic circulation
Enrichment of dissolved substances in sea 31, Barotropic circulation
surface microliyer is primarily caused by 4. Thermohaline circulation
|, aerosol deposition
2. biological Productivity 57. 'ﬂ'rrrﬂv IUHETET § Gt FTefit A & W
SSEYagRHR 1. 3o Ffzadr off
Freafaafir & ft w1 1w Fer Ao R S s el
Fte77 3t st 7T &7 3. SRR v i
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